= A
N = 0l & At & Ml A
01 E £ 13 YL SNZHD ~ AMYMD
SN SIMF D
B ARAL S
Sl ML HHE N CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
SRR 1,513,130 1,496,636 16,494
2 657,747 658,765 £1,018
Al 855,383 837,871 7,512
NEEEE-F 1,375,748 1,374,748 1,000
2 630,000 630,000 0
Al 745,748 744,748 1,000
ML 2SN 38,108 37.108 1,000
SEAMyL el 23,200 22,200 1,000
201 et | 1,360 360 1,000
01 AtR 22l H] 1,360 360 1,000
OTEAMYL FAMTAE L HA R0
1,000,0002 1,000 0 1,000
NESMBR 95,044 96,080 A1,036
2 27,747 28,765 ~1,018
Al 67,297 67,315 A8
UTAE B L ZAES 23 91,244 93,280 £2,036
2 27,747 28,765 ~1,018
Al 63,497 64,515 £1,018
MEOF AN L S 31,494 33,530 ~2,036
2 15,747 16,765 ~1,018
Al 15,747 16,765 ~1,018
202 04t 13,088 15, 124 ~2,036
2 6,544 7,562 ~1,018
Al 6,544 7,562 ~1,018
01 =LK o1 bl 13,088 15, 124 £2,036
OFIT S SEEx U BSHE ol
13,088, 0008 13,088 15, 124 £2,036
2 6,544 7,562 ~1,018
Al 6,544 7,562 £1,018
BEgE 34 84 3,800 2,800 1,000
¥x gEsA el 3,800 2,800 1,000
201 YEr2 | 1,800 800 1,000
01 At 22| t] 1,800 800 1,000
ONSAZ AFadiel E2YAT(CI,2D)D
0] 500,008 * 27H A 1,000 0 1,000
WRES(IMT D) 16,530 0 16,530
CRbIES 16,530 0 16,530
ot & 30| Ef 16,530 0 16,530
802 +& 27| Ef 16,530 0 16,530
NEREEEEEE 16,530 0 16,530
OBUITHE Y urE 16,530 0 16,530
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gl BEX| (Eto: & d)
SA-EY.B(BH) - PN - BES 0] &b 2 p/E-T HI RS2
OdgolsAZelX2HEH 2SASH(22)
16,213,600 16,214 0 16,214
OdgolsAZe X2 HE 2Z A (0IXH)
81,510& 82 0 82
OASAHEZA & HSASH 233,400& 234 0 234
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